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AVR 4 — 67

4.7

AVR ! :
4.7.1
1.

LSL—

: Rd 1 . 0 .7 SREG  C
2
L Z2&idae ]l
| <0
P —
L
LSL Rd 0 = d =3 PCEPCt 1
16 :
[ 0000 [11dd |dddd | dddd |
P125
( SRE}
1T H S v N z c
[ -l -JTefle]le]l=s]=]2]

H: Rd3 Ne R7

SR Z: /R7- /R6: /RS- /R4- /R3: /R2- /R1- /RO

Vi NC C: Rd7

. ( 4711.ASM)

LP:

Idi r16,$01 ; Ol R16

Idi r17,$02 ; 02 R17

add r16,rl7 ;R16 R17

Isl ri6 ; (01+02=03; ; 2. r=06’

rjmp Ip ;

Words: 1102 bytes)

Cycles: 1
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AVR

4 — 68
2.
LSR—
: Rd 1 . 7 : 0 SREG C
2 - C .
reaE 3 LU C
(|—
—
L SR
LSR .Rd 0 = d %31 PC&PCt+ 1.
16 :
[ 1001 [o010d |dddd |o0110 |
{ SREG
I T H S v N Z C
L -l -[ -l elels] ]| s |
S: NV Z:/R7- /R6- .R- /R4- /R3- /R2- /R1- RO
V: NC C: RdO
N: O
: ( 4712.ASM)
LP:
add ro0,r1 ; RO R1 (ro)= ,(rd)=
Isr r0 ; RO
rjmp Ip
Words: I {2 byt6s)
Cycles: 1
3.
ROL—
: Rd 1 .¢C Rd 0 :Rd C

L 6 = H g @Y [

< poL
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AVR 4 — 69
ROL .Rd 0= d .2531 PC&PC+ 1.
16
0001 [11dd |dddd | dddd |
{SREG!
| T H S v N VA C
-l -lelele]le] ] *]
H: Rd3 N: R7
S: NV Z:/R7- /R6- .R-/R4- /R3- /R2- /R1- RO
V: NC C: Rd7
: ( 4713.ASM)
LP:
rol ri5 ; R15 , (r15)=
rol ri5
nop
rjmp Ip
Words: 102 bytes!
Cycles: 1
4,
ROR—
: Rd 1 .C Rd 7 . Rd 0 C
L 7o o ld e 11
Cl—
RLUR
ROR.Rd 0 = d =31 PC&PCH 1.
16

[ 1000 |o0i0d |dddd |o111 |

i SREG? :
| T H S v N z C
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AVR 4 — 70
-l -[ -] e]le]l=] ] <]
S: NV Z:/R7. /R6. _R. /R4. /R3. /R2- /R1. RO
Vi N C C: RdO
N: R7
:( 4714 .ASM)
LP:
ror ri15 ; R15 , :(r15)=
ror rl5
nop ;
rjmp Ip ;
2GS 43 &1 U C
Words: 102 bytes!
Cycles: 1 —
—
5. ASK
ASR—
: Rd 1 ., 7 : 0 SREG C
2 2, : .
ASR .Rd 0 = d .2231 PC&PC+ 1
16
| 1001 [o010d |dddd |o0101 |
{ SREG :
I T H S V N Z C
-l -] - elele]e] =]
S: NV Z:R7- R6-R5- R4- R3:- R2- R1- RO
Vi N C C: RdO
N: R7
: ( 4715.ASM)
LP:
Idi r16,$10
Idi r17,$fc
asr ri16
asr ri7
rjmp Ip
words: 10 2 bytes)
Cycles: 1
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SWAP—
: R (7~~4) €Rd (3~0) €R (3~~0) €Rd (7~4)
SWAP Rd 0 =d=31 PC&PCH 1
16

[ 1001 [o010d |dddd |o0010 |

{ SRE}
I T H S v N Z C
Ll -l -1l-1-7-1 -] |
o |
2in o i il @ L
: ( 4716.ASM)
LP:
!nc rl ; A
inc r2
swap ril
swap r2
rjmp Ip
Words: 1 (2 bytes)
Cycles: 1
4.7.2
1. SREG T
BST— SREG T
: b SREG i T
: TERd (b}
BST=Rd b 0= dfé3=1,ofé b==7 PC&PCt+ I=
16

| 11211 [101d |dddd | Xobb |

SRE}
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T: 0 if bit b in Rd is cleared. Set to | otherwise.

bst rl,2 ; T€R1 (2}
bld r0. 4 ; RO (4} €T
Words: I {2 bytes)

Cycles: 1
2. SREG T
BLD , SREG T a
SREG YT Rd b.
: Rd (b} €T
BLD Rd,d 0= d=31, 0= b=7 PC&PC+ 1
16

[ 1111 [1200d |dddd |obbb |

{ SREG!

: ( 4722..ASM)
bst rl,2 ; T€RL (2
bld r0, 4 ;RO (4} €T

Words: 172 Dytes)
Cycles: 1
4.7.3
1.
BSET—
{ SREG
: SREG (S} «1
BSET s 0 = s =7 PC&PCt 1
16 :

| 1001 [0100 |o0sss |1000 |

{ SREG?
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AVR 4 — 73
I: 1 if s=7 Vi 1 if s=3
T: 1 if s=6 N: 1 if s=3
H 1 if s=b Z: 1 if s=1
S 1 if s=4 c: 1 if s=0
bset 6 ; SREG (6} <1
bset 7 ; SREG (7} €1
Words: 10{ 2 bytes!
Cycles: 1
2.
BCLR——SREG
SREG
SREG (S} <« 0
BCLR s 0 = s =7 PC&PCt 1
16
[ 1001 [0100 |1sss |1000 |
{SREG
| T H S V N YA C
| el o] o o] o] o o o] ]
I: 0 if s=7 V: 0 if s=3
T: 0 if s=6 N: 0 if s=2
H: 0 if s=5 Z 0 if s=1
S: 0 if s—=4 C: 0 if s=0
bclr 0 ; SREG 0} « 0
bclr 7 ; SREG i7) « 0
Words: 10 2 Dbytes!
Cycles: 1
3. 1/0
SBlI— 140
1/0 : 32 150 1/0
0~—3L.
: 1/0(P Db €1
SBIP. b 0=P=31. 0=b=7 PC&PC+1
16

[ 1001 [1010 |[PPPP [Pbbb |
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AVR 4 — 74
{ SREG] :
| T H S v N YA C
out $le,r0 ;(EEARL ) (RO)
sbi  $1c,0 ;( EECR 0 )<l
in rl,$1d ;(RO)+—(EEDR )
WOrdsS: 1 { 2 bytes!)
Cycles: 2
4, 1/0
CBI— 1/0
1/0 , 32 140 : 170
0~31.
1/0 (P. b} €0
CBI P, b 0= P=31, 0=b=7 PC&PC 1
16 :
[ 1001 [1000 |[PPPP |Pobb |
{ SREG) :
| T H S V N Z C
C: 1
cbi $18,7 ; 1/ 0 (PORTB 7 1 €0
Words: 10 2 bytes!
Cycles: 2
5.
SEC
SREG i i (Cla
: C€1
SEC NOne PC&PCH+ 1
16

| 1001 | 0100 |.oooo | 1000 |

{ SREG? :
1 T H S v N YA C
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AVR 4 — 75
-l -l -7 -1T-17T-1T-11 |
C: 1
sec ; C€1
adc r0, r1
words: 17 2 bytes)
Cycles: 1
6.
CLC—
SREG i {Cla
: C<€0
CLEJ None . PC&PCH 1
16 :
[ 1001 [o0100 |1000 |1000 |
{ SREG :
I T H S v N VA C
N N N N N N
C: 0
add r0, rO ;
clc ; C&0
Words: 1102 bytes)
Cycles: 1
7.
SEN—
SREG i i (NJ.
: N&1
SEN None . PCéPC—i-.l
16
| 1001 [o0100 |o0010 |1000 |
{ SREJ
1 T H S v N VA C
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AVR 4 — 76
N: 1
add r2., rl9
sen ; N1
Words: 1 2 bytes!
Cycles: 1
8.
CLN
SREG { ) (N,
: N&O
CLN None PC&PC+ 1
16 :
1001 [0100 |[1010 [1000 |
{ SREG ) :
| T H S v N Z C
| ! 1 -1 -7 —-—T0o [ -7 -
N: 0
add r2, r3
cln ; N&O
WOrds: 1 {2 bytesh
Cycles: 1
9.
SEZ——
SREG { ) (z).
. 2€1
SEZ None PC&PCH 1
16 :
|1001 |01oo |0001 |1ooo |
{ SREG ) :
| T H S v N Z C
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add r2. ri9 ;
sez ; €1
WOrds: I < (2 bytes)
CyCICS: [
10.
CLZ—
SREG i i (Z).
: 2&0
CLZ . None . PC&PCH 1.
16
[ 1000 [o0100 |[1001 |1000 |
{ SREG :
| T H S v N VA C
-l [ -] -1-[T—=1]T0o ] -]
Z: 0
add r2. r3
clz ; €0
WOrds: 1102 bytes)
Cycles: 1
11.
SEl1—
SREG i (1.
: 1<€1
SEl . None . PC&PC+ 1.
16
1001 [o0100 |o0111 |1000 |
{ SREG} :
I T H S s N VA C
I N N N N N
I: 1
. cli ; 1€0

in r13,$16 ;(ri3)<(PINB )
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set ; 1€1
Words: I { 2 bytes!
Cycles: 1
12.
CLI—
SREG i (1)
1<0
CLI None PC&PCt+ 1
16 :
[ 1001 [o0100 |1111 |1000 |
{ SREG :
| T H S % N Z C
Lol [ -] -] -] -] =] —|
I: 0
: ( 47312.ASM)
cli ; 1€0
in ri3,$16 ;(r13)—(PINB )
set ; 1€1
Words: 11 2 bytes!
Cycles: 1
13. S
SES
SREG ! i (Sha
s€<1
SES NOne PC&PC+ 1
16 :
1001 [0100 |[0100 |1000 |
{ SREG :
| T H S v N Z C
Ll -l -[+ [ —]—-0]—-1-=]
S: 1
: ( 47313.ASM)
add r2, ri9 ;
ses ; s€1
Words: 1102 bytes)

Cycles: 1
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AVR 4 — 79
14. S
CLS—
SREG & i (Sla
: S€0
CLS . None . PC&PC+ 1
16
[ 1000 |o0100 |1100 |1000 |
{ SREG :
| T H S v N VA C
Ll -l —-]lo | -] -] -] —|
S: 0
add r2, r3 ;
cls ; S€0
Words: 1102 bytes)
Cycles: 1
15.
SEV——
SREG i (Vi
: V&l
SEi/ None. PC&PC .1
16 :
[ 1000 |o0100 |o0011 |1000 |
{ SREG ) :
I T H S v N Z C
L -l -l -1l -11 ] -] -] —|
Ve 1
: ( 47315.ASM)
add r2. ri9
sev ; Vel
Words: 10 2 bytes]
Cycles: I
16.
CLV——

SREG i (Vi


http://www.ic-cn.com.cn

WWW.IC-Ch.com.cn

AVR 4 — 80
: V&0
CLv . None . PC&PC+ I.
16
[ 1001 [o100 [1011 |1000 |
{ SREG :
| T H S % N VA C
== = O
V: 0
add r2. r3
clv ; V&0
Words: 10 2 bytes!
Cycles: 1
17. T
SET— T
SREG i T
: T€1
SET . None. PC&PCH 1
16
[ 1000 [o0100 |[o0110 |1000 |
{ SREG :
| T H S % N VA C
S O I I B =
T: 1
set ; T€1
Words: 10 2 bytes!
Cycles: 1
18. T
CLT— T
SREG i i T
: T€0
CLT . None . PC&PCH+ .I

16
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AR 4 — 8l
[ 1000 [o0100 |[1110 |1000 |
{ SREG :
| T H S % N VA C
L —lof -] -] -1 -1 -1 —|
T: 0
. clt ; T<0
Words: 1 2 bytes!
Cycles: 1
19.
SEH—
SREG i {(H)a
: HEL
SEH . None . PC&PCH+ 1.
16
[ 1001 [o0100 [o0101 |1000 |
{ SREG
| T S \ N VA C
I S N N N N N
H: 1
seh ; HEL
Words: 1 { 2 bytes!)
Cycles: 1
20.
CLH—
SREG i CHYa
: H&O
CLH . None . PC&PCH+ 1
16

[ 1000 |o0100 |1101 |1000 |

i SREGJ :
| T H S v N z C
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4 — 82

clh ; HEO
Words: 102 bytes!
Cycles: 1
4.7.4

1.
NOP—

: No

NOP None PC&PCt 1

16

0000 [o0000 |[o0000 |o0000 |

{ SREG!

: ( 4741 .ASM)

LP:

nop ;
add rO ,rl1 ;R1 RO
nop ;
add r0, r1 ;R1 RO
rjmp Ip ; P138
Words: 1 (2 bytes)
Cycles: 1

SLEEP—
: : MCU

SLEEp None PC‘PC+ 1

16

[ 1000 [o0101 [100x |1000 |

$000H
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